Rabindra Bharati University 56A.B.T.Road (Kolkata-50) Tender Notice

Ref no:- R.B.U/ SO/T/06/2022 Date:- 24-02-2022

Sealed tenders are invited within 7(seven) days from the date of advertisement, from reputed water cleaning agencies having a minimum of 3 (three) years experience in cleaning of water tanks by mechanical means in reputed institution for cleaning of all underground and overhead tanks lying at the B.T.Road and Jorasanko Campus, at five hostels and at Panihati Staff Quarter. The Underground and overhead water tanks are be cleaned by mechanical means for removal of existing water along with sludge cleaning of the inside by mechanical scrubber and treatment appropriate by eco-friendly chemicals and bio friendly materials like Calcium Hypochlorite, Sodium Hypochlorite, Potassium Permanganate (KMn04) to disinfect the tank from all harmful pathogens. The agency should carry steel/aluminum ladder/scaffolding and should not stand on tank and connecting pipe lines during the work. Any damage on tank and accessories would be recovered from the bill of agency. Vendor should inspect both campus Hostels (5 nos) and Panihati Staff Quarter before quoting his rate. The decision of the University regarding selection would be final and binding on all bidders. Agencies should have at least 3 years of credential in working for such cleaning works. The agency should submit license, registration, PAN/GST etc. and EMD amount of Rs 5000/- in favour of Rabindra Bharati University payable at Kolkata.

Srl No	Name of the place	Volume of the tanks	Remarks
1	Panihati Staff Quarters	3 nos over head tank 2000 ltr each	6000 ltr

E.B.Campus

Srl No	Name of the place	Volume of the tanks	Remarks
1	Sangeet Bhavan	3 nos over head tank 1,500 ltr each	4500 ltr
2	V.C.Building	2 nos over head tank 1,500 ltr each	4500 ltr
3	Vedic Bhavan	4 nos over head tank 1500 ltr each	6000 ltr
4	Sramik Vidhapith	2 nos over head tank 2000 ltr each	4000 ltr
5	Ramanujam Building	10 nos over head tank 1500 -7	10,500 ltr
		2000 -3	6000 ltr
6	State Centre Library	2 nos over head tank 2000 ltr each	4000 ltr
	(Faculty Building)		
7	Guest House	2 nos over head tank 1500 ltr each	3000 ltr
8	Club House Site	Nil	Nil
	(Near Play Ground)		
	Chitra Bhavan	4 nos over head tank 1500 ltr each	6000 ltr
9			
10	Central Library	4 nos over head tank 1500 ltr each	6000 ltr
11	Old Purchase Dept	1 nos over head tank 1000 ltr	1000 ltr
12	Composite Building	6 nos over head tank 1500 ltr each	9000 ltr
13	Bapi Canteen	2 nos over head tank 1500 ltr each	3000 ltr
14	Dhononjoy Mancho	2 nos over head tank 1500 ltr each	3000 ltr

15	Main gate site	2 nos over head tank 500 ltr each	1000 ltr
16	Generator Room site	1 nos for student drinking purpose	1000 ltr
17	Chitra Bhavan site	1 nos for student drinking purpose	1000ltr

E.B.Campus Under Ground Reserver

			length	Breadth	Depth	Volume(M)	Volume (L)
1	Vice- Chancellor Building	1 nos	3.35M	2.74M	2.74M	25.15	25,150 ltr
2	Main Gate	1 nos	14.68M	6.44M	1.83M	173.12	1,73120 ltr
3	Guest House	1 nos	2.43 M	0.86M	1.26M	2.63M	2630 ltr
4	Sramik Vidhapith	2 nos	3.88M 5.58M	2.26M 5.20M	1.70M 1.67M	14.90M 48.45M	14,900 ltr 48,450 ltr
5	Ramanujam Pump House	1 nos	12.80M	6.20M	2.25M	178.56M	1,78,560 ltr
6	Old S.O Building	1nos	3.81M	1.57M	1.60M	9.57M	9570 ltr

Hostels

1	Abanindranath Boys Hostel	U/G Reserver (one)	8000 ltr
2	Ambedkar Boys Hostel	Under ground(one)	30,000 ltr
		Over head(one)	15000 ltr
3	Arjashree Girls Hostel	O/ head 2000 x2	4000 ltr
		500 x 1	500 ltr
		U/Ground 9500 ltr	9500 ltr
4	Mrinalini Girls Hostel	Over head 3000 x2	6000 ltr
		U/Ground 18000 ltr	18000 ltr
5	Mayamanjuri Girls Hostel	O/Head Tank pvc	1000 ltr
		1000 ltr x1	20,000 ltr
		Over head RCC	12000 ltr
		tank 5000 x4	
		U/Ground reserver 1	

Jorasanko Campus

Srl No	Name of the place		Volume
1	Administrative Building	Over head Tank(one)	35000 Ltr
2		Over head pump room1 nos	500 ltr
3	Bichitra Bhavan roof	Pvc tank 1000 ltrX2	2000 ltr
		G.I tank 1800 ltrx1	1800 ltr
4	Ram Bhavan roof	Over G.I Tank 1800 ltr x1	1800 ltr
		Pvc tank 2000ltr x2	4000 ltr
		500 ltr x1	500 ltr
5	Kala Bhavan	Over head pvc tank 1000 ltr x 1	
6	Sangeet Bhavan	Over head G.I tank 1800 ltr x3	3600 ltr
7	Adam Manch	Over head G.I Tank 1800 ltr x1	1800 ltr
8	Soceity Building	Over head pvc tank 1000 x2	2000 ltr
9	Teacher's Quarter	Over head pvc tank 1500 ltr x 4	6000 ltr
10	Sanat chatterjee quarter	Pvc 500 ltr x 1	500 ltr
11			

Under ground reserver at Jorasanko campus

Srl no	Name of the place	Quantity	Volume
1	In front of Pump Room	20,000 ltr x1	20,000 ltr
		8000 ltr x 1	8000 ltr
2	Rambhavan side	6,500 ;ltr x1	6,500 ltr
3	Sangeet Bhavan	7,500 ltr x1	7,500 ltr
4	Society Building	5000 ltr x1	5000 ltr
5	Teacher quarter	9000 ltr x1	9000 ltr

Summary :- Total Over head tank = 21 nos Under ground Reserver = 6 nos

Registrar

Rabindra Bharati University 56A.B.T.Road (Kolkata-50)

Tender Notice

Ref no:- R.B.U/ SO/T/06/2022 Date:- 24-02-2022

Sealed tenders are invited within 7(seven) days from the date of advertisement, from reputed water cleaning agencies having a minimum of 3 (three) years of experience in cleaning of water tanks by mechanical means in reputed institutions for cleaning of all underground and overhead tanks lying at the B.T.Road and Jorasanko Campus, at five hostels and at Panihati Staff Quarter. The decision of the university regarding selection of agency will be final and binding on all bidders. Kindly visit website www.rbu.ac.in for details.

Registrar